PPol 603
Assignment 11
Table 1

Estimated Effect on the Probability of Smoking of a Workplace Smoking Ban 

on Two Hypothetical Workers

Mr. A:  male, white, non-Hispanic, 20 years old, high school dropout

Ms. B:  female, black, 40 years old, college graduate

	
	(1) Probit Model
	(2) Linear Probability Model

	Estimated coefficient on Workplace Smoking Ban 

(robust standard error in parentheses)
	
	

	Predicted probabilities of smoking for Mr. A:
	
	

	(i)  with workplace smoking ban
	
	

	(ii) without workplace smoking ban
	
	

	Difference, (i) – (ii)
	
	

	Predicted probabilities of smoking for Ms. B:
	
	

	(iii) with workplace smoking ban
	
	

	(iv) without workplace smoking ban
	
	

	Difference, (iii) – (iv)
	
	


Notes:  The entry in the first row is the estimated coefficient on Workplace Smoking Ban in the probit model (column (1)) and the linear probability model (column (2)), with robust standard errors in parentheses; both regressions include the following control variables: Female, Age, Age2, High School Dropout, High School Graduate, Some College, College Graduate, Black, and Hispanic. The entries in the remaining rows are predicted probabilities of smoking for the indicated hypothetical individuals, and differences in those predicted probabilities.
